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R 30 # 650 369 570 148 22,486 345 26 134 340 814 1,545,862

TM OxT & 654 356 584 181 22,449 1,088 28 97 287 638 1,305,271

2 642 369 557 149 64,198 304 26 112 324 738 6,956,768

3 614 346 584 184 28,706 672 30 11 343 829 1,985,633

4 587 348 589 169 21,760 933 29 89 336 762 1,890,884

1] &B g 457 272 464 123 15,363 71 26 71 281 623 1,609,770

i & ™ 209 127 184 24 2,720 0 7 36 132 258 606,365

" % W 37 19 35 14 1,369 2 2 4 15 35 117,794

B OB W 11 11 23 6 709 0 2 5 16 36 43,867

Ko iE ™ 18 15 31 8 1,068 7 0 3 25 52 98,022

H & 7 4 5 2 329 3 2 1 3 4 27,472

& W ™™ 12 9 17 3 425 0 1 3 17 42 32,531

A H 0 15 9 32 21 2,572 10 1 3 13 45 197,717

2 B W W 10 8 10 0 93 0 2 3 6 8 11,050

5 @B W 11 6 8 1 355 0 0 0 3 10 24,430

2 XK W 39 15 25 6 976 14 0 1 9 28 47,497

g R W 27 13 45 23 2,344 24 3 3 17 44 161,003

R W® B ™ 7 1 1 0 0 11 1 0 1 2 515

X B ™ 46 34 47 15 2,281 0 5 8 24 59 238,702

E oA W 8 1 1 0 122 0 0 1 0 0 2,805

i1 & B 130 76 125 46 6,397 862 3 18 55 139 281,114

b H 8 9 6 9 4 837 0 0 1 4 11 23,180

B E A 8 5 8 4 837 0 0 1 3 9 21,471

t » & H 1 1 1 0 0 0 0 0 1 2 1,709

% H B 26 15 22 7 1,065 15 0 2 8 16 61,940

X A R/ OE 4 4 4 0 0 0 0 1 3 6 22

& B H 9 4 7 5 518 1 0 0 3 6 49,881

% B 8 4 4 0 0 14 0 0 1 1 1,188

noow H 5 3 7 2 547 0 0 1 1 3 10,849
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# R a8 9 4 11 7 661 15 1 2 2 5 16,595
A F AT 9 4 11 7 661 15 1 2 2 5 16,595

B EL ] 8 23 13 23 13 1,166 1 2 2 9 24 56,591
B ¥ 13 10 17 10 887 0 2 1 8 23 47,774

W T E 10 3 6 3 279 1 0 1 1 1 83817

B B b 20 11 23 6 597 6 0 6 16 38 55,390
w B H 7 4 7 2 232 6 0 1 3 6 7,103

t 4 & B 3 2 8 2 187 0 0 1 7 21 29,948

M OFF HT 10 5 8 2 178 0 0 4 6 1 18,339

2 n 8 22 15 17 2 1,094 812 0 3 10 20 42,621
X AT 14 1 13 2 1,077 812 0 3 9 18 42,107

X B H 4 2 2 0 17 0 0 0 1 2 495

X & # 4 2 2 0 0 0 0 0 0 0 19

n = 8 8 4 8 3 437 12 0 0 2 13 12,775
& W H 3 2 3 1 282 0 0 0 1 7 2,140
mmoox= H 5 2 5 2 155 12 0 0 1 6 10,635

= H 8 4 2 3 1 64 0 0 0 0 0 854
® oA H 2 1 2 1 39 0 0 0 0 0 222

x B H 2 1 1 0 25 0 0 0 0 0 632

4 B 8 3 2 2 0 0 1 0 1 1 2 2,201
% )il Hr 3 2 2 0 0 1 0 1 1 2 2,201

X = 8 6 4 7 3 476 0 0 1 3 10 8,967
= kEHE 6 4 7 3 476 0 0 1 3 10 8,967
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BEt 33 59 3, 149 94 42 478 17, 245
Hh AR ETET 9 32 1, 541 35 10 185 4,821
HEE AT 24 27 1, 608 59 32 293 12,424
w&E™™ BF23E11A18 6 20 1,125 20 7 56 1,853
X% B ELIRTE 1 3 99 3 1 6 361
ko2 7l ERITELARTB 1 5 155 6 1 73 1,204
ERH ERR1TE4ARATH 1 4 162 6 1 50 1,403
2 THREREE AEFN4843A31H 2 2 151 3
ERE AT 4 22 1,090
EA™ 1 3 155
RFNHET 1 5 498
KIERET 1 4 266
KEF 1 10 1M
BERRLETREBHE BFI46E4A 1 B 5 8 358 15
ERE AT 3 55 2,253
R&™ 1 4 1, 465
BWBT 1 7 603
1| BT 1 7 185
BEMEAEGEFES BF45FE4H1H 5 220 5
B RE 6 36 724
BE™ 2 7 121
28 W™ 1 8 145
A EET 1 6 191
+ 4 EET 1 10 176
FI FFET 1 5 91
HEEMRTHESRES ERSIELRATH 2 1 136 4
HERE AT & 13 885
Aifm 1 3 266
B IHAT 1 4 359
L STHT 1 6 260
S LT BB A BA4TE4A 1 B 2 5 28] 12
BRI 9 57 2,907
BA™ 1 8 566
AEATH 1 7 525
& EHT 1 6 289
+ 4 TEHT 1 4 121
K in] [ T 1 6 254
+EET 1 5 245
LEMET 1 6 260
JII 5 BT 1 7 222
HLERET 1 8 425
Kt R TR EE FEFI45FE4A1H 4 5 328 10
WRE AR 5 85 3493
Kigth 1 57 2,092
£ FRET 1 4 181
pIES: ) 1 7 530
REHET 1 7 262
EHEHRT 1 10 428
SAUB - RS RETHRERES | BA4TE4R 18 2 5 187 8
BRI 2 25 1,072
ST 1 13 664
= [ERT 1 12 408




